
４８×７３８＝３５４２４ をもとにして、次の積を求めましょう。

３ ８ ＝① ４ ８ × ７

８７ ６ × ６

③ ７ ６ × ６ ８ ３ ＝

３ ＝②

７６×６８３＝５１９０８ をもとにして、次の積を求めましょう。

① ７ ６ × ６ ８ ３ ＝

＝

１

③ ６ ７ × ５ １

② ６ ７ × ５ ＝

1

2

3

日にち：　　　月　　　日

名まえ

６７×５１＝３４１７ をもとにして、次の積を求めましょう。

① ６ ７ × ５ １ ＝

⑫ 仕上げ
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８

４８×７３８＝３５４２４ をもとにして、次の積を求めましょう。

２ ４３ ８ ＝ ３ ５ ４

０

① ４ ８ × ７

１ ９ ０

８７ ６ × ６ ８

③ ７ ６ × ６ ８ ３ ＝ ５

３ ＝ ５ １ ９②

７６×６８３＝５１９０８ をもとにして、次の積を求めましょう。

① ７ ６ × ６ ８ ３ ＝ ５ １ ９ ０ ８

４ １ ７

＝ ３ ４ １

７

１

③ ６ ７ × ５ １

② ６ ７ × ５

７

＝ ３

1

2

3

日にち：　　　月　　　日

名まえ

６７×５１＝３４１７ をもとにして、次の積を求めましょう。

① ６ ７ × ５ １ ＝ ３ ４ １

⑫ 仕上げ 答え
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